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September 16, 2017

Solve Multi-Step Equations

Notes: . Now You Try!
Solve each equation. Solve each equation
Exl -30=-3x-2x 1 -25=-10x+5x
V -15= -5
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Ex2  5m-7=5m 6m=6m+1
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Not True! No Solution! No Soldtion
Ex4 8m-3=6m+7 9x+1=4x-19
—n 7 -4 Ay
2m-3=7 Ax+l=-19
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T = -20
2“51_1% 5 5
m=5 X="4




September 16, 2017

M
X5 16+ 6k=2(2+K) @):-14+6g X6 m 3(x+6) 6 B(x+1)=-(1-x)
_- ~Bx-g= | +X
16+ 6k=4+ 2k Yy +8="14tey 2x-6=3x+18 j{ —X
._Z,L - ZK :___3_’_"'[,\%- —Zx 'Zx ?
AR §=-14+72 6=x+18 AT 8 |
=20 -\-H +Y 3 - -8
g q %_7-_ _7_%_ ™ 4=y 33
k=5 % —-
I \\ =3 \VNU\X:—ZH x \
than
§=!
AN oY
X7 -5(@1] = -3f(§+\7] -4(b+5)= E,K[Tb->3) x8 -g[]x+ 8)=7(x-4) 8 9(2x+3)= @)
~p~20=bb-18 P et
Qa+2=-3a-21 —lb -bb ety e
132 43 5 S AHx =2
—_— -10b-20=-R o=z -0 -7]
13- 476 O = = W
—10b=2_ 121 at
a=-23 =10 10 >< —?ﬂ_ -3
b: _ _I5 -1=x g
Ex9 Anequation is solved as shown.
Between which two steps is an error made? 9 An equation is solved as shown.
Explain the error.

Between which two steps is an error made?

Explain the error.
Ox-1)=3(x+9)

ShoUH be
-9 3x+27

-4(x+7)=2(x-4)

-9=12x+27 Ax-28=2x-8
-36=12x -28=-2x-8
3=x -20 =-2x

10=x




